LY —-A10VO/32RFIFREER

Variable Displacement Piston PumP LY -A10V0/32

% & Overview

LY ~A10VSO/R2RFERAE R SFBAMQEETRR, S TLRAH
MUTEVM AT, BE2EAFACBBERIRITH, RAEMERE, W
ETIEEHA28MPa,

LY -A10V(S)0O/32 series variable displacement piston pump swash plate axial plunger
variable pump,respectively for industrial use and for mobile machinery design, is
designed for open loop hydraulic driven design, adopts a shaft structure, rated
working pressurs up to 28Mpa.

S I TEEE oS A5 iR

Swash Cylinder Control Valve -T— T e Control
Plate Block Piston Plate | Vale
el

Case ™,

Fenhi =

b=
End
Cover
EIjES [ER F3E SEE
Case Platan Piston Returning Piston
G- Features
KEREMMEHEETRER, BTHAXERERRREREESD  %Varable pump with axial piston rotary group of
iR SERNRERMHAERAIEL swash- plate design for hydrostatic drives in open
AR i R T R E R piade _
¢ BB T bk e A R Am ¥ Flow is proportional to the drive speed and
displacement.
IS M O ERl B fe R R e 3%The flow can be infinitely varied by adjusting the
X EREFR swash- plate angle.
¥ 4 ERkEh # Hydrostatic unloading of the cradle bearings
MR # Connection for measuring sensor on the high-
pressure port
KEERSM., WHEAMFEEESE TR —
i P iE MR a0 3Low pressure pulsation
# High efficiency

# High resistance against cavitation, loss of suction
pressure and case pressure peaks
# Universal through driv




#5451 Type Code
LY -

1-£434> 2 Machinery Classification
shodE, EEX, ¥R, T A Axial piston, swash plate design, variable, used in industry A10OVS

2-i51{71%=%, Operational Mode
7 =% Bl % Open circuit =

3-#l# Size
£# A MNominal displacement mL/r 45 | 71 | 100 | 140

4-3Z2FHLH Control Devices

WS H, AT Two point control, directly operated DG DG
@ @ @ ® DR
it I X-TFEopen e | o |0 | o DRF
E7:1281 Pressure Control with flow controller X-T3% Hplugged e | ® | & | O DRS
Wiz 12 [E 7145 HlRemote pressure control e | o | o | o DRG
Z5MPa ® (& o | ©® LA5SD
& A1 {0 E5.1Z9MPa e | o | o |0 LASD
With pressure cut-off
Th##2 H Power control RSB E E9.1E16MPa ® | o | e | @ LA7D
beginning of control H16%24MPa S RS OIS LABD
Bii24MPa ® | o | e | @ LASD
LhERS, HEHEZEES
Power controller with pressure cut—off , hEF M E e | o | e | ° LA*DG
remotely operated
ThEERF, TEAVE, REEEE, X-TXH
;E p?trlécgnangmllar with pressure cut—off flow control, hEYBERE L ® | & | & O LA*DS
YRR, BEMREES, X-TXH
Powser controller flow control, X-T plugged hEiNEMERE L @ ® | @& Q@ LA*S
electically over-ridable {(nega -tive cnnqmi
5-# 7% Series
a2
6-Hi¥ 7@ ( MABA%E ) Rotating Direction(View on Shaft End)
MiBd £t Clockwise
B $T Counterclockwise L
7-# 3 Seals
iR B VitonFKM v
8- fh Shaft End 45 71 100 140
S @i Keyed shaft DIN68B5 e | o | o | @ P
158 B4 Splined shaft SAE e | o | ® o S
% MhSimilar to shaftS S iH MR RN 4E 9. & = | = A

A& AEChart shows: @=RJLi{tffAvailable, O=fF#& ¥ In preparation, —=7Not available




9-& %€ %= Mounting Flange

Drain port L,L1 pressure (Absolute pressure)

ISO 471 B
10-I £ O Service Line Ports
B ASHMEAEOBEREMS A, SAEE=, AFMEIFL, HEAERIES 22U
11-iE B Through Drive & 71 100 140
JC i $h 3 =h Without through drive ® | o | ® | @ | NOO
HiEMIED, MREERTIT
With through drive, the second pump connection dimension as follows
REE= HE{R IR ZRIMIR
Mounting flange | Spline shaft The second pump
ISO80-2 SHh 3/4in11T16/32DP | CR10VS018/31 ® | & | o ® | B2
ISO100-2 SHh 7/8in13T16/32DP | CR10VS028/31 e & | O ® | B3
ISO100-2 S#h1 in15T16/32DP CR10VS045/31 ® | & @ ® | B4
ISO125-4 S#i1 in15T16/32DP CR10VS045/32 ® o | o ® | E1
ISO160-4 Sih1 1/4in14T12/24DP | CR10VS071/32 - | ® | @ ® | BB
1S0180-4 Sili1 1/2in17T12/24DP | CR10VS0100/32 - | - |e®| | B9
IS0180-4 S4h13/4in13T8/16DP | CR10V0140/31-32 = = = ® | BY
SAEB2-2 Ul 5/8in9T16/32DP CR10vS018/31 e | o | @ ® | 01
SAEB2-2 SHi 3/4in11T16/32DP | CR10VS018/31 e (o |0 ® | 52
SAE101-2 SHi 7/8in13T16/32DP | CR10vSO28/31 e o | o ® | 68
SAE101-2 SH81in15T16/32DP CR10VS045/31 ® ® ® @ 04
SAE127-4 SHi1in 5T16/32DP CR10VS071/31 @ ] ® L E2
SAE127-4 SHi1 1/4in14T12/24DP | CR10VS0100/31 - ] @ ® 15
SAE127-2 SHi1 1/2in17T12/24DP | CR10VS0140/31 - - [ ] @ 24
SAE152-4 SHh1 1/2in17T12/24DP | CR10VS0100/32 - - [ ] @ 96
SAE152-4 SHi1 3/4in13T8/16DP | CR10V0140/31-32 - - - ® | 17
AR $ ¥ Technical Data
W # %% Parameters Table
¥ Size 45 71 100 140
#E B Displacement Vo max mL/r 45 71 100 | 140
BAUSEH (i3t EH B R &7
Prsone ct dtion 7| M¥iinimum prassure ko) bar i
port US (Absolute EREH P
pressure) Maximum pressure o bar 10
MEED
M BEH (4%t EH)|  Rated pressure > bar 280
Pressure at Outlet M08 R h
port B tm}::ranrute Peak pressure s Bar 350
pressure
;NET
Minimum pressure oar 1D
B %4t 3 3% Rate of pressure change bar/s 16000
MmOl LEA ( 8XEA ) PL bar 2




Mk Size 45 71 100 | 140

HEmDisplacement Vg max mL/r 45 71 100 | 140
iy A Vg= Vg maxfd Mo max r/min 1800 | 1800 - —
Max. speed
Ps = 1bar Vg< Vg maxgd r/min - - 1800 | 1800
N=Ng max Cvo max L/min 81 128 180 252
AR i
Max. flow n= 1500 r/min B¢ Umin | 675 | 1087 | 150 | 210
A Th N =N o max@f Po max kW 38 59.7 84 118
Maximum power
(Ap=280 bar) n= 1500 r/min B KW 31 50 70 28
HisE A p=280 bar i T max Nm 200 | 317 | 446 | 624
Torque
(Vo= Vimax) A p=100 bar B¢ T MNm 72 113 158 223
Bifg P
o SR S tamalen D Nm/rad | 34587 | 80627 (132335188408
B S
Torsional Shaft extension S Nm/rad 29497 | 71884 [ 121142| 169537
stiffness B R
Shaft extension R Nm/rad 41025 | 76545 - -
R B EHNR
Momaent of inertia of the rotating assembly H kgm* 0.0035 | 0.0087 ( 0.0185)| 0.0276
5 K F T B
Max. angular acceleration rad/s® 4000 | 2800 | 2400 | 2000
?uﬁﬁeﬁ of case L 10 | 18 | 22 | 30
ﬁl:gh't kg 30 47 69 13
5 Torque
(VgmaxELA p=280 barft) T max Nm 200 317 446 624
max 200 439 857 | 1206
? # P TE Nm
haft extension P b o = = o o
T Emax Nm 319 626 1104 | 1620
WA AILE" ghﬁﬂﬁ L
Max. input torque® | Shait extension b in 1 | 114|112 | 134
Nm 400 644 - =
A b in T | S

1) Vg =VymaBt B{EIE A TR OSAH O E /1 5P=1bar { #iX &7 ) BAER, SHEEDOEPIEmaLHERE N,
WEEHATIEM, 23 OEANPsmn=0.8barld, FHBMNE/NEI0%, Vo<Vomadfit#iE 05 EER,
1) Ons Ve=Vomex, the value is applicable to the inlet pressure at suction port S is Ps = 1bar {(absolute pressure), when the inlet

pressure Ps increase or decrease the displacement,the speed can be in creasad,when the inlet pressure Psmin = 0.8bar, the speed
should be reduced to 90%. Vi < Vg mx Value when the speed limit.

2 ) ERTFEERAMERNMERS Fordrive shaft free of radial load

#i454r4h Torque Distribution




MR 45 (IEHHLMDR, DRG. DFR/DFR1)
Dimensions size 45 (Control devices DR, DRG, DFR/DFR1)

ke

ISO 3019-2
2
&
LYy
B
o]
& 242 + 24
W
n i
<t
R |
=2 Y |
; 3
/ 4
1 > £
"15' =, g v ﬁﬂ.ﬂ
T -
i + !
|
|
2 O I R e _;Q
IS
- 129 2
O A b e i
L 146 -
235 L, 146 -
ESN S IEEN
g 22 (i
h{R Shaft
S fERM, 15T 16/32DP™ R {£8@%, 15T 16/32DP™ P T4% DING885, ABX7Tx36
(SAE J744) (SAE J744)
38 4793
< 16 | — 16 . i’ 39 i
& T% i 13 @% 8
Q| ™ o 79
= O 3
of o0 =
3 B == E E 1 o O i
= 2 .| 83 @
—i * Ly ] T a
Ry T O
30 TANER *
450 52




i O Ports o, bk Pmax [bar] R
B i OOutlet port SAE .J518 1in
% B4 G Fastening thread DIN 13 M10x 1.5;17 () asl. | @
S it OSuction port SAE J518 11/2in & 5
¥ B Fastening thread DIN 13 M12 x 1.75;20(3)
L ittjé ODrain port DIN 3852 M22 x 1.5;14(R) 2 0
L1 jit &1 ODrain port DIN 3852 M22 x 1.5;14(R) 2 X
X #2 &l OControl pressure DIN 3852 M14 x1.5;12(%) 350 0
X $§)E ZiControl pressure for DG control DIN ISO 228 G 1/4in;12() 280 )
Me Rl Ik JE 71 B Measuring pressure B DIN 3852 G 1/4in;12(2%) 350 X

v DG - WA E =24

v LADS-EKED. KBfzhEES

b=y Lipgapi d:p
mEEAR

1B S MBS B &Y
5 e

v DRG -ERZBFEHEHR v ED7./ER7.-HB K 124 58

==

EE e e 6
ERER

iE & e SHRE R &
R

¥ DRF/DRS N 57 #0533 A 3%

< m i
X 2
- __| | e

B S MBS $HAE %6y
B3 Fefu B




WERS 71 (¥ HL4SDR. DRG. DFR/DFR1)
Dimensions size 71 (Control devices DR, DRG, DFR/DFR1)

EE
iSO 30192 \
|
3
o
2
i
()
Y
21
']
V E{E
5 &
83 8
L
MB B
ESHNHERN
R Sk
h{R Shaft
S S8R, 14T 12/24DP" R ZE8EH, 14T 12/24DP"? P 8% DING8B5,A10x8x45
(SAE J744) (SAE J744)
47.5 =
=y —
D - ’: .. _ 19 45
S|~ & Atz || pxo
2y B © 25,
% - I_. = %I w | — -f/
1} ‘ ™ s 28 &t
=i | el < B g g!
wh 8 @ 3 8
| 39.5_ WSS i
554 &0




i O Ports o, bk Pmax [bar] R
B i OOutlet port SAE .J518 1in
% B4 G Fastening thread DIN 13 M10x 1.5;17 () asl. | @
S it OSuction port SAE J518 2in & 5
¥ B Fastening thread DIN 13 M12 x 1.75;20(3)
L ittjé ODrain port DIN 3852 M22 x 1.5;14(R) 2 0
L1 jit &1 ODrain port DIN 3852 M22 x 1.5;14(R) 2 X
X #2 &l OControl pressure DIN 3852 M14 x1.5;12(%) 350 0
X $§)E ZiControl pressure for DG control DIN ISO 228 G 1/4in;12() 280 )
Me Rl Ik JE 71 B Measuring pressure B DIN 3852 G 1/4in;12(2%) 350 X
¥ DG - AR E £ v LADS - B7 . REF0T) S5

X Somet4tiEsn

ESMEiEEa
v DRG -EREHEHiaH = v ED7./ER7.-HENE %38
- 172 -
X
:i = = 1:'
i@ i =] |
=T = |
sl [ ¥ I :
1SS e SHEESE 1Y

. 1538
B 6 BT ST eS8
) e g i SRt

¥ DRF/DRS HEAHFFEEH 8

15 & BT $H AR FE 1
R




SMERST ME100(=EHEHLEDR,. DRG. DFR/DFR1)
Dimensions size 100 {Control devices DR, DRG, DFR/DFR1)

;=
ISO 3019-2
e, =
p . (@ M«
/ S
<8 (] -
88 |
i )
= N : / @
Y
r | S ==: Q/ ¥
" 158.4 _|
=t m i
118 164.9
b= Uil i )|
WEENE
i Shaft
S WP, 17T 12/24DP) P 3Eggth DINGSB5 ' A12x8x68
(SAE J744)
& 70
% 68
= . . "X 12
a 15- -
E]f i
- — 7
M~ g % 7
2 % = s g

|
L §




i O Ports o, bk Pmax [bar] R
B il OOutlet port SAE J518 11/4in
% B4 G Fastening thread DIN 13 M14 x 2;19(3F) el
S it OSuction port SAE J518 21/2in & 5
¥ B Fastening thread DIN 13 M12 x1.75;17(3)
L ittjé ODrain port DIN 3852 M33 x 2;16(R) 2 0
L1 jit &1 ODrain port DIN 3852 M33 x 2;16(%) 2 X
X #2 &l OControl pressure DIN 3852 M14 x1.5;12(%) 350 0
X $§)E ZiControl pressure for DG control DIN ISO 228 G 1/4in;12() 280 )
Me Rl Ik JE 71 B Measuring pressure B DIN 3852 G 1/4in;12(2%) 350 X

Y DG - R EAEH

18 o Y S REH Y
EE 304

v DRG -im#E2 H X J1 1275 38

E SR £HiE % 6y
i 2 i

¥ DRF/DRS—Ee ) #0735 i 28

15 & 0B ST AE e 69
R 22 A fir

v LADS - Eh. KEFID) ]

=S A sHiE e
MRELR

v ED7./ER7.- B ahEE /1 2 38

ESIBRY £ % 6y

i R i




MER T 140 FHLEDR, DRG. DFR/DFR1)
Dimensions size 140(Control devices DR, DRG, DFR/DFR1)

9,
6.4,
E=
IS0 3018-2 \
; W
g
=
S )
i
S
1%
m‘f‘
i o ® E‘
. 7. %
83 - £ vV EE
Hiﬂ .
LY
_ 3(S
X ‘-IFI
L . @ ¥
L 158.4
s liﬂ .
[T 3 1798
BAY RS
R =R
h{R Shaft
S @4, 13T 8/16DPY P 44k DINGBSS, A12XBX68
(SAE J744)
LGT @
Bl e fr
]
Z| . 10 o |G % 14
ﬁ' | E —"'—5.-_— }
"E'I?-. [ ] i
S ; g% =55 I
= 3

(R

75 =s




i O Ports o, bk Pmax [bar] R
B il OOutlet port SAE J518 11/4in
% B4 G Fastening thread DIN 13 M14 x 2;19(3F) el
S it OSuction port SAE J518 21/2in & 5
¥ B Fastening thread DIN 13 M12 x1.75;17(3)
L ittjé ODrain port DIN 3852 M33 x 2;16(R) 2 0
L1 jit &1 ODrain port DIN 3852 M33 x 2;16(%) 2 X
X #2 &l OControl pressure DIN 3852 M14 x1.5;12(%) 350 0
X $§)E ZiControl pressure for DG control DIN ISO 228 G 1/4in;12() 280 )
Me Rl Ik JE 71 B Measuring pressure B DIN 3852 G 1/4in;12(2%) 350 X
¥ DG - AR EHNREH v LADS - EA1, BT REH

' . 1

L ]

s -

| Bt

h
E 1

| "

-
o

EE WS iEED ES A S e &Y
R I f iR o A
¥ DRG -z B H KD #2538 ¥ ED7./ER7.-8zh[E H %28
@ £h
_ﬁ o o
1
& &)
sntgag. o
[ran ]
BEERAHEED &SI e 8
RS MR

¥ DRF/DRS-EE 73 70k Mt 13 %l 3%

J
ESIET $Hies el
RREVE




i#3H R~ Dimensions,, throug drive

%2 Flange ISO 3019—1(SAE) | #& Hub for splined shaff iEMAAEIS  Availability over sixes e
HfEDiameter Symbol H{#Diameter 45 71 100 140 Code
80-2 o 3/4in 11T 16/32DP a [s ) o uB2
100-2 S oo’ 7/8in 13T 16/32DP @ o @ @ UB3
® = Available - = Not available
¥ 80, 2-hoke
oo UB2 NG | M1 M2 M3
45 264 miEEEHRE
71 299 | 21.3 | 40.6
s (SAE J744 16-4(A-B))
100 | 360 19 38.6
140 | 377 19 38.6
v 100, 2-hole
NI =" UB3 NG M1 M2 M3
45 264 18 41.7
(SAE 744 22-4(8)) 71 299 | 20.3 | 44.1
100 | 360 18 41.9
140 | 377 18 41.6
%2 Flange 1SO 3019-1(SAE) | £% Hub for splined shaff’ BEAHS  Availability over sixes e
B#Diameter  Symbol F1{#Diameter 45 71 100 140 Code
125-4 0 1in 15T 16/32DP a o ey ® UE1
160-4 1 11/4in 14T 12/24DP - o @ @ UBS
® = Available - = Not available
T -4
M12; 228" . e %’:‘g UE1 NG M1 M2 M3
45 264
MEWMEHRE
] 71 299
(SAE J744 25-4(B-B))
s 100 360 18.2 46.9
140 377 18.5 45.9
a
MifEdEEE)
/}".% UB8 NG M1 M2 M3
71 2909 | 201 | s8.1
100 | 360 | 19.8 | 56.4
1183 (SAE J744 32-4(C))
g &l 140 | 377 | 19.8 | 56.4
180 | 387 | 20.1 | 56.4

1)30° EAf, FER, NERS, A2FL5
According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5

3)%&DIN 13 4 Thread according to DIN 13




& 2%Flange ISO 3019-1(SAE) | 782 Hub for splined shaft’ iEHAS  Availability over sixes RE
HfEDiameter Symbol H{EDiameter 45 71 100 140 Code
11/2in 17T 16/24DP - 2 @ @ UB9
180-4 ol
13/4in 13T 8/16DP - - - & UB7
@ = Available - = Not available
¥ (O
O
s uB2 NG M1 M2 M3
£ 100 | 360 | 9 | 639
(SAE J744 38-4(C-C))
140 | 377 | 102 | 749
_‘_”.1‘-:
UB7 NG M1 M2 M3
| (SAE J744 44-4(D)) 140 | 377 | 104 | 774
-
#E2Flange ISO 3019-1(SAE) | 7% Hub for splined shaf{’ BAAS  Availability over sixes RE
B #&Diamester Symbol B fEDiameter 45 71 100 140 Code
¥ A - 5/8 in 9T 16/32DP @ ® @ ® Uo1
£ood? 3/4in 11T 16/32DP @ ® @ ® us2
® = Available - = Not available
v E-% (A}
Mio:18m" Ot
7 \ Uo1 NG | M1 | M2 | M3
ArNe © - 45 | 264 | WIEEWEK
¥ i 71 299 | 9.3 | 61.3
(SAE J744 16-4(A))
Sy @j) 100 | 3so0 | 105 | 65
Al 140 377 RigEELR
¥ EKB-2 (AS
UBS NG M1 M2 M3
q © 45 264 | 18.6 | 38.7
71 299 | 20.7 | 41.4
/ (SAE J744 19-4(A-B))
28 o) 100 | 360 17 38
140 | 377 19 38.6

1)30° EAHf, TR, WEARS, A2E8ES5

According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5

3)#SDIN 13 g & Thread according to DIN 13




i#% R~ Dimensions,, throug drive

% 2Flange ISO 3019—1(SAE) | #& Hub for splined shaff iEAEIS  Availability over sixes e
EffDiameter Symbol B 2D ameter 45 71 100 140 Code
o6 7/8in 13T 16/32DP @ o ® @ Ues
101-2(B) Sood
% oo d® 1in 15T 16/32DP @ ® 7] & Uo4
® = Available - = Not available
v W2 (@)
U68 NG M1 M2 M3
45 264 182 | 415
i1 299 18.7 44 .1
(SAE J744 22-4(B))
100 360 17.4 | 41.3
140 377 17.4 | 41.8
oA O i )
uo4 NG M1 M2 M3
45 264 RIEWELE
(SAE J744 25-4(B—B)) 71 299 | 20.8 | 49.1
100 360 17.6 | 46.6
140 377 17.9 | 46.3
MiERRE=)
$#2Flange ISO 3019-1(SAE) | #£12 Hub for splined shaft’ BEBAHS  Availability over sixes e
H{#Diameter  Symbol H{EDiameter 45 21 100 140 Code
1in 15T 16/32DP & @ o o UE2
127-4 (C) £
11/4in 14T 12/24DP - B F] @ Uis
127-2 (C) Poss 11/2in 17T 12/24DP - - @ » U24
@® = Available - = Not available UE2 NG M1 M2 M3
¥ 124 05
45 264 | 18.7 | 46.6
Miz: 22(m)" H:H /2?0
197-4 (C) 71 299
100 360 | HRERMEMHE
140 377
U1s NG M1 M2 M3
71 209 | 21.8 | 58.1
127-4 (C) e BERE
140 377
u24 NG M1 M2 M3
i 100 360 | 21.5 | 62.3
i= 127-2(C)
140 377 10.5 | 62.3

1)30° EAfE, FiH, NERS, 22EH5

According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5

3)#%&DIN 13 4 Thread according to DIN 13




& 2%Flange ISO 3019-1(SAE) | 782 Hub for splined shaft’ iEHAS  Availability over sixes RE
HfEDiameter Symbol FfEDiameter A5 71 100 140 Code
11/2in 17T 12/24DP - - @ ® uge

152-4(C) o
18/4in 13T 8/16DP - - - & Uiz

® = Available - = Not available

¥ 1E2-4 ()

OnBs
U96 NG M1 M2 M3
‘)
! 100 360
Eﬁ 152-4(D) REWRBR
140 377
3
¥ 124 ()
u17 NG M1 M2 M3
152-4(D) 140 377 11 77.5

1)30° EAA, FiER, NERS, 2Z8A5
According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
3)#FSDIN 13 By Thread according to DIN 13




	启东联谊机械_页面_053
	启东联谊机械_页面_054
	启东联谊机械_页面_055
	启东联谊机械_页面_056
	启东联谊机械_页面_057
	启东联谊机械_页面_058
	启东联谊机械_页面_059
	启东联谊机械_页面_060
	启东联谊机械_页面_061
	启东联谊机械_页面_062
	启东联谊机械_页面_063
	启东联谊机械_页面_064
	启东联谊机械_页面_065
	启东联谊机械_页面_066
	启东联谊机械_页面_067
	启东联谊机械_页面_068

